( Link to Master Table of Contents ) ( Link to Section Table of Contents )

High Pressure Banjo Elbow 1

SWVE-R g@‘ WH-R 0
(@)
Banjo Elbow ) 5%4 1 High Pressure Banjo Elbow 1 =
24° Flareless / BSPP 24° Flareless / BSPP =
LL
End Size 2 End Size
Part 1 2 Part 1 2 2 8_
Number (mm)  BSPP Number (mm) BSPP >
LL Series L Series =
SWVEO4LLRCF 4 G 1/8A WHOBLRCF 6 G 1/8A )
SWVEOBLLRCF 6 G 1/8A WHOSLRCF 8 G 1/4A +=
SWVEOSLLRCF 8 G 1/8A WH10LRCF 10 G 1/4A m
L Series WH12LRCF 12 G3/8A o
SWVEO6LRCF 6 G1/8A WH15LRCF 15 G 1/2A =
SWVEOSLRCF 8 G1/4A WH18LRCF 18 G 1/2A -
SWVE10LRCF 10 G1/4A WH22LRCF 22 G3/4A Q
SWVE12LRCF 12 G3/8A WH28LRCF 28 G 1A E
SWVE15LRCF 15 G12A WH35LRCF 35 G11/4A o\
SWVE18LRCF 18 G1/2A WH42LRCF 42 G11/2A 1
SWVE22LRCF 22 G3/4A S Series @)
S Series WHOBSRCF 6 G 1/4A L
SWVEO6SRCF 6 G1/4A WHOBSRCF 8 G 1/4A o
SWVEO8SRCF 8 G1/4A WH10SRCF 10 G3/8A cC
SWVE10SRCF 10 G3/8A WH12SRCF 12 G3/8A ©
SWVE12SRCF 12 G3/8A WH14SRCF 14 G 1/2A @)
SWVE14SRCF 14 G1/2A WH16SRCF 16 G 1/2A L
SWVE16SRCF 16 G1/2A WH20SRCF 20 G3/4A .
SWVE20SRCF 20 G3/4A WH25SRCF 25 G 1A 0 £ 0 part number, insert “Z” 7))
WH30SRCF 30 G11/4A petween size and pressure series. A
WH38SRCF 38 G11/2A Example: WHO6ZLRCF 3
Q
v v - J
Banjo Elbow 3 1 <
B WH-M
24° Flareless /

Metric Parallel

2 24° Flareless / Metric Parallel
End Size
Part 1 2 End Size
Number (mm)  Metric Part 1 2 2

LL Series Number (mm) Metric
SWVEO4LLMCF 4 M8 x 1 L Series
SWVEO6LLMCF 6 M10 x 1 WHO6LMCF 6 M10x 1
SWVEOBLLMCF 8 M10 x 1 WHOSLMCF 8 M12x1.5

L Series WH10LMCF 10 M14x1.5
SWVEO6LMCF 6 M10 x 1 WH12LMCF 12 M16x1.5
SWVEOSLMCF 8 M12x15 WH15LMCF 15 M18x1.5
SWVE10LMCF 10 M14x1.5 WH18LMCF 18 M22x1.5
SWVE12LMCF 12 M16x1.5 WH22LMCF 22 M26x1.5
SWVE15LMCF 15 M18x1.5 WH28LMCF 28 M33 x 2
SWVE18LMCF 18 M22x1.5 WH35LMCF 35 M42 x 2
SWVE22LMCF 22 M26x1.5 WH42LMCF 42 M48 x 2

S Series S Series
SWVE06SMCF 6 Mi12x1.5 WHO6SMCF 6 M12x1.5
SWVE08SMCF 8 M14x15 WHO8SMCF 8 M14x1.5
SWVE10SMCF 10 M16x1.5 WH10SMCF 10 M16x1.5
SWVE12SMCF 12 M18x 1.5 WH12SMCF 12 M18x1.5
SWVE14SMCF 14 M20x1.5 WH14SMCF 14 M20x1.5
SWVE16SMCF 16 M22x1.5 WH16SMCF 16 M22x1.5
SWVE20SMCF 20 M27x2 WH20SMCF 20 M27 x 2

WH25SMCF_ 25 M3 x 2 For EO-2 part number, insert “Z”

WH30SMCF 30 M42Xx2  petween size and pressure series.
WH38SMCF 38 M48x2  Example: WHO6ZLMCF

Part numbers shown are for steel. Other material options available. Go to www.parker.com for details.
Dimensions and pressures are for reference only and are subject to change.

F67 Contact your authorized Parker Fleet Distributor
for ordering, catalogs and further information or
visit www.parker.com for detailed information.




